
A

B

WITH THE HELP OF SOMEONE TO PLACE,
THE COVER ON A FLAT SURFACE ON THE SIDE

OF THE HOLES 

STEP 4

DETALLE A
ESCALA 1 : 5

BUTTON SOCKET SCREWS 5/16 X 1-1/2"

SPLIT LOCK WASHER 5/16

FLAT WASHER 5/16

DETALLE B
ESCALA 1 : 3

TIGHTEN THE SCREWS WITH THE ALLEN WRENCH, AND THEN TURN THE
THEN TURN THE DINING ROOM OVER WITH THE HELP OF SOMEONE

AND PLACE IT IN THE DESIRED PLACE

STEP 1

STEP 2
THEN PLACE THE BASE, MATCHING THE HOLES TO

THE HOLES TO PLACE THE SCREWS
 SCREWS MENTIONED IN THE FIGURE A

STEP 3

REMEMBER THAT IT HAS LEVELERS,
ONCE PLACED IN THE DESIRED LOCATION

IT IS NECESSARY TO LEVEL WITH THE SURFACE

DESCRIPTION #

SOCKET BUTTOM HEAD 5/16 X 1-1/2" 4

FLAT WASHER 5/16 4

SPLIT LOCK WASHER 5/16 4

ALLEN KEY 3/16 1

ASSEMBLING 
INSTRUCTIONS

I-RNDTP-E004



ITEM DESCRIPTION #

1TOR005 TORNILLO ALLEN 5/16 X 1-1/2" 4

1RON011 RONDANA DE PRESION 5/16 4

1RON003 RONDANA PLANA 5/16 4

1HER251 ALLEN KEY 3/16 1

EL NIVELADOR SE VA CON LA BASE

ASSEMBLING 
INSTRUCTIONS

I-RNDTP-E004


	Hoja1
	Vista de dibujo1
	Vista de detalle A (1 : 5)
	Vista de detalle B (1 : 3)

	Hoja2

